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BT & WSS Ieg T s T % z
X 54154 125,198 61,068 64,130
=z 606 1,504 745 759
REFZHT 1,609 3,777 1,908 1,869
FEET 196 419 237 182
FE T 1,066 2,404 1,197 1,207
INBR 1,313 2,880 1,359 1,521
NG 237 511 276 235
FRET 1,765 4,045 1,949 2,096
AE 766 1,894 924 970
itz 1,755 4,124 1,999 2,125
Fazsdt 2,085 5,248 2,588 2,660
TIEET 2,735 7,126 3,467 3,659
i 623 1,539 777 762
TERET1T 811 1,771 891 880
TERET2T 793 1,885 930 955
TERET3T 877 2,262 1,107 1,155
TERET4T 483 1,163 586 577
TERETS T 556 1,383 712 671
3,520 8,464 4,226 4238
J\E=FHT 809 1,904 927 977
J\EILHT 2,170 5,160 2,519 2,641
J\ETET1T 5 8 5 3
J\BTET2T 1,246 2,551 1,179 1,372
J\BTET3T 536 1,121 554 567
1,787 3,680 1,738 1,942
J\EB R ZHT 442 770 358 412
®/\H 517 1,157 575 582
B 2,295 5,472 2,702 2,770
EH 1,163 2,754 1,377 1,377
EFALET 2,297 5,268 2,505 2,763
EFIRET 1,678 3,328 1,606 1,722
EHIFKHET 2,642 5,726 2815 2,911
R R HET 3,568 8,146 3,998 4,148
R LT 1,188 2,966 1,455 1,511
PRI RHET 1,176 2,719 1,339 1,380
EH K ET 1,458 3,220 1,604 1,616
RBR 23 24 20 4
ER1T 522 1,243 611 632
ER2T 486 1,162 570 592
ER3T 270 728 342 386
ER4AT 488 1,210 607 603
ERST 238 568 280 288
ER6T 430 1,000 511 489
2,457 5,935 2,941 2,994
1=H 5460 13,149 6,382 6,767
RE 709 1,534 717 817
¥& _EHT 1,527 3,584 1,771 1,813
RErL 330 731 350 381
= [RET 2,205 4,060 1,737 2,323
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